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30,640,983 30,407,681 233,302
= 3,209,425 3,012,630 196,795
= 283,425 265,960 17,465
Al 27,148,133 27,129,091 19,042
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= 3,095,700 2,916,030 179,670
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£2 FE NN 2 9,170,298 9,408,298 238,000
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Sz AB2 77,000 48,000 29,000
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15,000, 0008 *23] 30,000 15,000 15,000
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—~ SHY(AYOIEME) 7,000,008 *13] 7,000 0 7,000
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-syy 20,000,0008! »13] 20,000 40,000 £20,000
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-syy 52,000 31,000 21,000
B3 3,000,0008! *8% 24,000 3,000 21,000
—gze 31,500 10,500 21,000
AS 3,000,0008! *8% 24,000 3,000 21,000
Ozel~E B2 74,000 116,000 £42,000
-2y 64,000 106,000 £42,000
s2 8,000,0008! *1% 8,000 16,000 8,000
= 5,000,000 *1% 5,000 15,000 £10,000
B2 3,000,0008! 2% 6,000 30,000 24,000
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—-say 0! 0 50,000 50,000
—gze 5,000, 000! 224 € A 10,000 20,000 £10,000
OR#E gl ol 4,765,313 4,888,113 A 122,800
-J123 3,155,852 3,225,423 £69,571
83 (Yurere)  2,898,8008 *622 « 122 2,156,708 2,226,279 £69,571
— 2 FEH| 319,313,0008! 319,313 322,542 £3,229
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Ne2st0s & 11,901,134 11,591,234 309,900
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201 Yty 0 5,950 A5,950
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= 1,595,700 1,416,030 179,670
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= 1,505,700 1,416,030 179,670
< 104,590 92,810 11,780
Al 593,410 526,560 66,850
SH 0l XIOF&H At 0 30,000 230,000
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OM©BHEEOl HMOFH AL 2 HI 0& 0 20,000 A 20,000
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SRAHEY 243 28,260 28,400 A 140
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203 ¥ S =&l 3,060 3,200 A 140
03 AIF=XH =AY 3,060 3,200 A 140
OZRHE gR=2 3,060,000 3,060 3,200 A 140
Fstils oot 2=F 2,099,966 2,106,161 A6,195
< 24,225 23,070 1,155
Al 2,075,741 2,083,091 AT7,350
gEed & X2AZE 2F 1,919,966 1,920,161 A 195
S 24,225 23,070 1,155
Al 1,895,741 1,897,091 A 1,350
gE=a =29 1,829,756 1,833,801 A4,045
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03 =220l 0 4,000 A 4,000
OZEHIMEs WS =20 (01=2) 0& 0 4,000 A 4,000
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HESAAY 23HA FHAHAS 180,000 186,000 A 6,000
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SHENE 225,072 0 225,072
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02020 Z0He! 23t0=& S At Ol &t 670& 1 0 1
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24,719,000 24,719 0 24,719
02020 d==23t EtZ=2 I H 2,413,000& 2,413 0 2,413




